Subject: Re: HTTPS?
Posted by rylek on Fri, 01 Dec 2006 19:29:38 GMT

View Forum Message <> Reply to Message

Hello,

the 'problem’ with Socket implementing pick semantics is honestly more about getting Mirek to like
it than a problem with the socket class as such. From the code point of view | believe the current
implementation with a separate interface wrapper object and its internal socket handler object is
most logical as the sockets use a completely different access interface than SSL sockets. Mixing
the implementation of the two together would work well if the Open / OpenSSL methods did only
some initialization of setup stuff, which they don't. The only result would be that practically every
access method would have to begin with an if() distinguishing the two interfaces and wanting the
code buildable without SSL would require tens of #if-#endif pairs to mask off all these SSL
variants.

Regards

Tomas
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